EAGRAROBREERT — 2 N— ABISH —F 202087100 (A) 9m{ZE1H

mﬁﬁﬂﬁs##ﬁ # 5% 31 [xwl 8 | 1mEmml - |5 5 oo mE
[AE4£] 1% :450,000 3 ~ 2% :135000H  3#&:72,000H  43#%:36,000™ . 53&:27,000 ™
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
117l 9| oo nErUN o3 | Wom ?4_53 -1 3.9 — | 1 | 463 %Eg% (=2
R:zAEATTI-X B:VHFLTEIYT (+9) RS
9 o Al . = . = AE—K (£8)
ol5|g|ELYTZHA 8 W A Pl iy | HumE
RNIIVTSY BI—T7FvT Ii=Ese
B EEIFE . — . — REM (£R)
s> SIAr4T—ILR 4 3 oy (1551/74> 5-4 36.7 3 <4+712) K?;j% =1
RiboFT—E BV ATTINRIL HE %

o f# 3 | RER= 55.7 4-5 36.8| — 6 491 | HIIES (EH)
411 SvFA b 54.0 (75 HRREE

QUUTNALNT b BAL S 2ITEN ®2 |l mm
= —)— . 4 3 | HKIEA 56.2 2-2 37.6| — 7 471 | BENE (EE)
s@ 7|7 V-V Fr> 54.0 @172 ) | ERmE
R:ZAv—h77)0> BV NFHAT YY1 FHE
sl 4| TV THTAX 3 | BEE-L (576% 66 [37.2] — | 4 (4214) QA%E% )
R:yA7% BiAkAyTIU—L YA T
7111 | vnEEX # 3 %g‘];ﬁ;ﬂﬂ 5(%5 9-9 3.5 — | 9 | 478 gﬁi\(%”ﬁ“)
R ELFOYY BT @) | % s
. B » _ =
glglio| N> # 3 sﬂgfgl—k (536/46) 77 |a7.3 2 (4+257) %%Eg )
L:Er7FOvY B:TULEINILS RET 7 — L
9 gl 7AUzFv—n 4 3 Jsli%ﬂ: (5762;) 8-8 36.9 — 5 <4+112) Zﬁ)%%oﬂrz”f“)emuus
R:TZv 784K BiyA by l—37 LA sEe
10 3|vvo512 4t 3 g%fﬂt 5(74.)4 10-10 [37.0| — 1 (4+152) *é‘%i_é(ﬁa)
R b=t hILEY BRATAINUT iE Al
117110 IV /d—HhAA— 3 ﬂiﬁ)’% 5(%6 -1 | 87.9| — 10 (4;6) EE{El]I;%}}P(%?:%}}
L:2bhAXTVE—-> BR-F4—-XRZXH ELagae]
L # 3 | WTHE - - — — — — | REM (&R
%[5 5 JO0/I> 7L X 54.0 (e51) ) |EE—

RE—E—HNEY B:TATTRYY Ja—-U—77—L

® 1 —F—@EBIBfL

12—7-

23—7F—

3a—7F-— 9,7,6,11,2,4,12,8,1,3,10

43—F— 9,7,6,2,11,4,12,8,1,3,10

o HLR=

BB 9 160 | | 74 K 6-9 590/ He 57 1,650M 3ER 2-6-9 3,360/

B B 9 130M 2-9 350M B & 6-9 1,550/ 3B 9-6-2 10,220M
6 590M 2-6 2,040M 53 9-6 2,250M
2 180MH

ARICOVWTRDTEEERROODE. TR LI,



